L
*L ey \'
14{3‘/ 3‘-’7}.
o I
Il / /

7

i — 5%
L Cﬂv\"\--") G{Mu’: J-SOIMU([Q;I IR; ) v R x 50(3)
1 4

¢ orru"- Pm wvnj ¥ of *. o€ C‘OM!’»-.(_)‘

regresentatvn Ao Cheose  a single

V
L sane e e laaCa(a(-v\l, 20 :.JC hﬂ"

bo A~ Vi sl4ce . -
‘ all o 1lan: 3\"74.17
1 var LA, > =3
| g IR5 _._"Il s
1 ) .
SR
f:U)c 6(‘«\7 -pfs a/\n&iﬁ"- wiaf “2.5 J
[
"*& —t - 7”3_—/
o4 = B % by L IR ﬁ
')( 1\"‘\-%[‘1/#,(‘
Re S0C3)  vehtu -




P —

L Me i W\.aw-{ e oy o

E

% - e — —

X R, , xelR,

| x=9X -

Lo A) ) X -

) = gt

| e B

| E: ACoex] #P°X )

if lJI uLf' S— -

1 =~ (’){)gcg \]( e?l‘__ﬁ_ WS a‘~3/\ ==

Y ) P ¥ 7 Ar / B
l\/lan;ﬁdly Qdi lnwvavien 1 ! umm'%{%ﬁﬁ

,:/{ | P iD3 J———a_.lb3 4 f[o +41'bi ,,,,,
{ . l\j “\5.

= £ \p¥)<h DI Y hat St

:1! & Al - AT

|

‘ Wc/\ Caun wor de ! B

X= O.xX




s A o

;—"; ] - 7 B 4 *’wL‘L |
| S gc"?) bk ?(A—) < T
v e- -
 x(t) = getI¥ —gtt)y=Tr
v ) ] B o
% = 3% — §X *
Se 4 - -
 KE(3) = KEL54Te)
[ =2 a e Wi o gECS)
& Joer (RE, R )
wlez & 0 / th var ac ‘,\ i ]
u—t-..«(,u\_« e AT i
Iﬁ% C[D c)
\ [ N
gt e Y TS = A3 ) %R
gwj rel “m He bod,'ﬁm“ :IP\—SK/PE—
K (e, v = <:ztij_> + W~
] I
o li i -

g 4!7,0@!1/»\/1(_ &;/'/’M




Mf\ld‘.‘c La.ec
Nl >
T PR I |
W V\V\,/N‘"c\—r
en.  SO(3) e

-




